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FIG. 27

L = L=1
IF(M=10162+62463
A2 = 045%(A2+A21)
PRINTs A2, A21

L = L+1

GO TO 11

A2 = 0425%(3e%A2+A21)
PRINTs A2,y A21

L = L+1

GO TO 11

A24 = ARS(A21+AD)
GO TO 58

A23 = ABS(A2)
IF(A23+A2)1+66557
R = R+RT/10.

SHEAL1 = (2e/3e)*¥B¥(3e%A2=4 %A1 ) ¥R¥HT

EPSI = SQRT(ALPHT*R*R*¥R¥R+BETT*R*R+GAMT)
(2e/36)%*¥STRO¥ (3 e*A2-4¢%A1) ¥R¥HT/EPSI
Oe5*(STRO+B*EPSI)

SHEA2
TAUNO
TAURZ SHEAL1+SHEA?2
IF(RT=R) 75972472
TAUNO = ABS(TAUNO)
TAURZ = ABSI(TAURZ)

IF(TAUNO=TAURZ) 73973571

(2¢/9e ) %¥BX¥( (HCHHT ) /20 ) % (3e*A2-46%A1)
BOY1*(RT*RT*RT-RIT*RIT*RIT)

4o *¥ALPHT*GAMT-BETT*BETT

BOY1
BOY2
BUG7
IF(GAMT ) 14514413
BOY21 = GAMT*%0e25
GO TO 16

BOY21 = O
IF(ALPHT)195194518
BOY22 = ALPHT*%0425

BUG8 = BUGT/(16e¢*ALPHT*%¥]145)

GO TO 21
BOY22 = 0.
BUG8 = Oe

BOY23 = (BOY21+RT*BOY22)/(BAY21-RT*B0OY22)
IF(GAMT/ALPHT )24 924423
BOY24 = 0e5*(GAMT/ (ALPHT*ALPHT*ALPHT ) ) *%¥0425

GO TO 26

(CONTINUED)
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